Group 1: Dave Buonconsiglio, Richard Harrell, Devon Moore, Traveon Williams,
MET 330
Dr. Ayala
October 13, 2021
HW #2.1

Devon Moore: Looking at the forces due to static fluids slides, | learned forces at the bottom of
a tank can be found by first finding the sum of the pressures in the tank and then dividing by the
area at the bottom of the tank. Refreshers to static were also covered showing the importance
of finding both the sum of forces and sum of moments when determining the reaction forces due
to the force of static fluids.

Looking at the buoyancy and stability slides | learned the weight of an object is always
equal to the buoyancy force if the object floats. | also learned That the meta center must be
greater than the center of gravity for a floating object to be stable. The slides also explain that
the center of gravity is at the centroid of an object, where ass the center of buoyancy is at the
centroid of the submerged volume.

Dave Buonconsiglio: Going into the study of buoyancy and stability, | had a basic understanding
of the principles, but not a true understanding of the design process. | had never even heard the
term metacenter before. By going through the problems and solutions, as well as reading the
chapter and working on the problems, | learned how massive ships can still maintain their
buoyancy through proper design and placement of the center of gravity of the vessel. This also
showed me how load masters plan the loads for those giant cargo vessels, and why it takes so
long to load and unload them, the center of gravity must be carefully calculated to be below the
metacenter of the mass if the vessel is to make a successful voyage. In order to do that, each
container must be carefully weighed, with each cg known, and added to the overall cg of the
mass. | already had a concept of this process, but now | know the math behind it, and could (with
some more experience) possibly handle those calculations in the future.

Richard Harrell:

Traveon Williams:
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